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LIBRARY & INFORMATION

slanay - QAL [Asi-

SCIENCE AiETII
PAPER - III
Note :This paper contains Seventy Five (75) Multiple-choice/Assertion and
Reasoning/Matching questions carrying TWO (2) marks each. Attempt All
the questions.
6 b sl dEar (on) sgfselly usdl, gl v Asst etradi-l Wil
& M WL glol davaldl §. ¥As wsal o (R) 2w 9.
1. A regression curve is : 1. UM AsIvL ...l 0.
(A) a model of a mathematical :
relationship (A) aURidla deiad, Hisa
(B) a model of a direct relationship n i s e aleid sl
Al ¢© gl % Se
between two variables (B & ualstealel BUALANAT, HisL
(C) a model of an inverse (©) & Al a2l [@uld deiad
relationship between two
variables Hisd
(D) a model to depict central =< 2 <
! | P M) 3lmu weluxil suldg Hisd
tendency
9 The Dublin core metadata elements 9. 515 MRl Aaia- elifas duel a3
related mainly to the resource as _ N R X
. o eollal A AsiAa sodld sz Halsel
intellectual property are :
(A) Creator, Publisher, Identifier SeflA-ex sul 9 7
and Rights
f BORLS 2 855
(B) Creator, Publisher, Relation (8) s, Usius, ALARS Bt ¢
and Rights _ : . -
(B) A%S, M55, HOU 2 855
(C) Creator, Title, Subject and
Relation (C) A%¥s, AduM, [Avy v Aold
(D) Creator, Publisher, |
Contributor and Rights (D) AUYS, HUsLUS, Hetdsdl A w55
L. &I S.-III 3 [P.T.O.]




Legal Deposit Acts are normally

linked to :

(A) National and Public Libraries
(B) Academic Libraries

(C) Research Libraries

(D) Business Libraries

GUI stands for :

(A) Graphical User Interface

(B) Global User Interface

(C) Geographical User

Information
(D) Graphic Utility Interface

What is the programming language

for CDS/ISIS Interfacing ?
(A) FORTRAN

(B) COBOL

(C) FORTRAN 7.7

(D) PASCAL

L. & 1. S.-III

‘o slulfle Bise’ =gl si-l
Al Asddl  ?

(A) AU 24 A dyHs Aaiay)
B) s el

(C) HeligA Ay

D) dalfly Al

GUI 9+t Hie & ?
(A) Aslsd Y2 S-223Y (Graphical

User Interface)

(B) ddistd %3 233 (Global

User Interface)

(©) wdluslsd yn: Sqasdo
(Geographical User

Information)

(D) Asls Y2ldlél S~223 (Graphic
Utility Interface)

CDS/ISIS Hie s1dsul oyny 56
9 7

(A) siglq

(B) sielle

(C) sigl+ 77

(D) Jse




6. An Expert System is : 6. wigud e g Q7

(A) A Software Program = i
(A) As2d UAM

(B) Datébase Management
(B) Seléiyy HAwH~2
System

(C) AAod-e Srsriadt [y
(C) Management Information

M) st Lenld vald

System
(D) Knowledge Based System 7 [Afre usiadl dssl geeldl dun
7 A list of technical words especially »d wEAl wel 2% $3dl AlssH AU

those in a particular text, explaining

_‘
¥ 9

their meaning is :
(A) UoEsIM

(A) Dictionary

B) sisin ([Azasiv)

(B) Encyclopaedia
(© [@AIR]

(C) Thesauri

Jica 5 Ty
(D) Glossary (D) *diuzl

L. &1 S.-1II 5 [P.T.O.]




8. Match the following and select the 8  +{|3+ [aseqld Asi :

correct answer from the codes given YRR 2% 53112
below : _
| @ Hudl @ ®. Mgl
Technique Founder
_ [HEalls2a
()  Chain (a) G. Bhattacharva
. G) Ul ® "R a8
Indexing .
() PRECIS (b) Mortimer Taube @) IRl @ AR,
_ oLy
(i) POPSI (¢) S.R. Ranganathan
(iv) Uniterm (d) Derek Austiﬁ ) ﬁ’maq @ éﬂ& Q){Léél‘i
i [Meallsrw
Codes : 51S
@ G)  GiD) (o) G G GiD)  Gv)
A © @ (@ () A) © @ (@ ®)
B) © @ B (o B © @ ®) (@

D ©® © @ @ D ® © @ (@

9.  Which management school regards . . N
: 9. 59 Aulasly [Qaall daulga

management as a wuniversal 5 o -
dlas ulzul 39 1 ls1 § ?

process ?

(A) The Human Relations School (@) Hidly 2etaldl Raurasl

(B) The Classical School B) ulwe Qurarl

(C) The System School - | (© u«;&\t_[ﬁ:’uwm

(D) The Social Systems School D) AMUFs ygla Rz
L. &I S.-III 6




10. Melvil Dewey started his first

11.

library school in :

(A) Columbia College

(B) New York State Library in

Albany

(C) Adams Center, New York

(D) Ambherst College

Assertion (A)

Reason (R)

Codes :

Maximization
of the use of
documents is
the motto of

the library.

Maximization
of the use of
documents
satisfies the
Fifth law of

library science.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false '
L. &I S.-I1I

10. ARad syS¥ dH-dl wuy Aulay

11.

aoul wzid 530 edl

(A) sidlBian sias

B) ucaFHidl yuis e ase?l

(C) e Awer, ~yuls

(D) 2HeR 1A%

54 (A)

512 (R)

51S

YAIAL HSdH
BuylaL eX)
A yray-l

Haldvl 0.

YAUIAL HSTH
Guylol AUldy
[Qstiddl wiaHl

Yo Adid 8.

(A) (A) A (R) 6iq AL &

(B) (A) 4 (R) ol vilel &

(©) (A) AR B uid (R) ¥ &

M) (R) A & uig (A) wig &

[P.T.O.]




12. In communication process the point, 12, My uBl dsel % (61, Gur]

at which the message originates is Gectd B A9 i 58 B 7

. known as :
(A) #ol
(A) Channel
(B) =lid
(B) Source
(C) Uldsdl

(C) Receiver

D) 25A-5is2
(D) Encoder ( .) .

'3 o @ ; = .
13. Which principle is violated when 13, -ieusla av{r »{fax [Baxiul

the head of the order section of a Y[Raf{d sidiey- 2429 [Aeuoi-L sl

university library goes on a long diofl 2920 Gu Aleul oy @l sy|

vacation during the last days of the Bigidel ool iy B ?

financial year ?

(A) [2Rd
(A) Discipline |

(B) Al [l A @R dllg
(B) Subordination of individual :
g
interest to general interest

C) el slsaisudl
(C) Unity of Command (&) Alsdd

(D) Unity of Direction D) elRasl-l Hsasudl

L. &I S.-I11 ' 8




14. Which of the following libraries
plays a crucial role in the life of

an individual in creating love for

books ?

i (A) Research Libraries
(B) School Libraries
(@ Collsge Tibaries

(D) University Libraries

15. In the context of information
transmission the term ‘bandwidth’

denotes :

(A) A protocol

(B) Network topology
(C) Channel capacity

(D) Transmission media

L. &1 S.-III

14, A3l @dul Al Hiedl UM Gl

15.

sl Al syl Auldul

Hecddfl o[Msl ood & 7
(A) Adla Aaaal

(B) ol dAuial

() Hellaanay aduiaul
(D) [ﬁﬁq@ateﬁ{ SRR

HURdl a0l declul ‘olesdlsy’

ue g eauld © 7

(A) Mielsld

(B) Aeds zau-l

(C) Hl &xdl

(D) a2l Hieay

[P.T.O.]




16.

17.

18.

The Science Direct Database is

developed by :

(A) Emerald

(B) EBSCO

(C) Sage Publications
(D) Elsevier

According to AACR-II, author of a

Map or an Atlas is :
(A) The publisher
(B) The cartographer
(C) The illustrator
(D) The designer

Which of the following is an example

of Associative relationship ?
(A) Rivers—Ganga

(B) Salt—Sodium Chloride

(C) Deforestation—Soil Erosion

(D) Aves—Parrots

L. &I S.-1II

16.

17.

18.

A I L

(=
—

AU SlUR s
[asuiel ?

(A) VHRUES

(B) oSl

() él%f u@cﬁsar%{
(D) »ienfaziz

™ i

A AL BUR—R Yol AsUAL A

asaidielldl sal siel ¢y & 7

(A) M55

(B) +l5aUsIR

©) [R=siz

(D) [éasuﬁrt. dulr 53R
fAHiel sy Acton dolud Gelswy
8 ?

(A) Agluii—oid1

B) HE-AUBUAH sdiLSs

(©) Rd-lsra—oyld «lael

D) uellAi—yive

I




19. Match the following and select the  19. QA [Qsedid sl

correct answer from the codes given o euls Wl @ (i—[-e,

below : .

. @) el Y51 6) Ay s

(i) Weekly Listing (a) Pre-prints
[y dii-l AL s~

ylel [uslul

(i) List of Nobel (b) Benet’s Reader’s

Prize Winners Encyclopaedia
G ARRUS UEL (@ 4 ACS BIEHAS
(iii) Literary Terms (¢) The world
WS s AiS
almanac and
524
book of facts

i A wWRA @ oll.wiell
(iv) Grey Literature (d) BNB

3\16:
Codes :
@ G @) Gv) G G @) Gv)
A b
A) @ © G (@ A d © G

B © @ & @ B) ) @ & @

© @ © @ ® © @ © @ ®

D © @ & @ D @ @ W’ @

90, (A-lMidl sul AFUHL SR AAEY
»EMaH (Public Library Act)
2 Bcdcaml el 7

20. Which one of the following

states does not have Public Library

Act ?
(A) Karnataka A sailes
(B) Andhra Pradesh (B) s Hea
(C) Kerala (C) 9
(D) Madhya Pradesh (D) & Ul
L. & L S.-III | 11 [P.T.0.]




21.

22.

23.

Which of the following is not formal

communication ?
(A) A written policy
(B) A manual

(C) A board room meeting in a

college
(D) Invisible college

Open systems interconnection was

an effort to :

(A) Standardize networking

(B) Provide internet connectivity
(C) Provide E-mails

(D) Standardize bibliographic

description

The information facility at the
national level established by UGC
for the benefit of teachers and

research scholars is :
(A) NICNET

(B) ERNET

(C) DELNET

(D) BONET

L. &I S.-1II

21.

22,

23.

AAAid gy Afs wenad o] ?
(A) dlba Al

(B) A-yid

(©) Helasuaunidl ARl 6es vis
(D) g Helldenay

WU HRuy Sesasud ...

Hledl Udet odl.

(A) edslod widis

(B) 222 515314l 4y wsdl
(C) %S—ft%Sc{lm Yisal

D AsHAYRRId Qe{Hel Hidis

(15l 2470 2lallasi-u quet W12 Yol
glRl U d3 Glell s 2udd)

dledl vadd s & 7
(A) ls-e
(B) 22
(C) sa-e

(D) olie




24. Switching systems : 24

(A) Provide interconnected paths
between nodes - in

communication networks

(B) Ensure that data is kept safe
from corruption '

(C) Provide a common physical
connection point for computing

devices

(D) Are basically protocol

converters _ ;! o

25. Match the following and select the
correct answer from the codes given

below :
(i) Planning (a) Delegation of
authority

(if) Staffing (b) Audit
(7ii) Controlling (¢) Promotion
(iv) Organizing (d) Goal setting
Codes :

@ G @) Gv)
A @ @ @ 6
B) @ O ©@© (@
C) @ & ©© @@

D @& @ & (@
L. &1 S.-III 13

(Ra{lar fl2eH :

(A)

(C)

(D)

Yy dedsdl Alsu HLe

YR FSIHA WA YA WS 9
goil suaeel s 9

sivy o (Sardailadl eillas
RAswl w2 A5 Brg YU WE D

YLl Mieisia s=add o

=

A2l [Qseui st :

@)

YL (@) Al wiuell

@) sHulow () wisle

(A)

(B)

(C)

(D)

(i) »igu () uel~idl
 (jv) HeRal (@) agd Rulza
3“[6 :

@ @) @) Go)

d) © @ ®

d) b)) (e (a)

@ B © (@

d () (b (@)

[P.T.O.]




26. The .executive editor of 26. ‘vAALSsAUBUL s AdAR] i

27.

‘Encyclopaedia of Library and

Information Science’ is :
(A) Eugene Garfield
(B) S.R. Ranganathan
(C) L.M. Harrod

(D) Allen Kent

Which of the following statements

about :

(t) Transiation and
@) Photocopying

is true ?

(A) (i) is passive service and (i7) is

active service

(B) (@) is active service and (if) is

passive service

(C) Both (i) and (ii) are active

services

(D) Both (1) and (ii) are passive

services

L. & 1. S.-III

27.

Sesal A AL Yoo duies s
9 ?
(A) Yo+ ouldes

(B) AU M. 291

(O) nd. ™. &S

D) Ad- 3=
Which _“of the following statements -
about : |

@ gdle i+

() UUdvis (Photocopying) [l
AAig s34 Qe wy & ?

(A) ) [Bsy Al © x4 (i) uBy
Adl &

B) @) ABu Al B 2 (i) [Alsy
Aal &

© @) »A ) oA uBY AL B

D) @) 21 Gi) ol FBsy Aar &




28.

24,

Which of the foll.owing is true of

Referral Serviée ?

(A) It brings users and services

together

(B) It gives pinpointed information

to users

(C) It provides exhaustive

information to users

(D) It provides current awareness

to users

In an information transfer cycle, the

author is at the following stage :
(A). Storage

(B) Archiving

(C) Production

(D) Distribution

L. &1 S.-III

28.

A5,

ilkdl Rea Al (Referral Service)

wie (Al o w0y 9 7

(A) A GudLsdll 21 Adiiiq AS
&

B) a Guudisdliia Alssy Hledl
TRV

() A Gualosdlxiia [@Add Hiledl

yl wd 8

S N

D) d  GuAdLsdlid  edd

Masiibddl Yl ws ¢
yRdl sdidr %ﬁi sdl 1Al
AlUld U 2Ud O
(A) dAe
(B) w[MHav{lswl
(C) Geule

M) [Adzw

[P.T.O.]




30.

31.

(i) The Third

Match the following and select the
correct answer from the codes given

below :
(i) Little Science, (@) S.C. Bradford

Big Science

.(i.i) Documentation (b) William Martin

() Derek de

Wave Solla Price

(iv) The Information (d) Alwin

Society Toffler
Codes :
@ G G (v

@A) @ 0 © @@
B) ) (@ @ ®)
€ @ b © (@
@M @ & @ @@

Standing Conference of National
and University Libraries (SCONUL)
that was formed in 1950 changed
its name in 2001 to :

(A) Standing College, National
and University Libraries

(B) Society of College, National

and University Libraries

(C) Standing Council on National
and University Libraries

(D) Standing Committee on National
and University Libraries

L &I S.-1IT

30. -la-u [@seqlq s

0 dled AuA, @ A,
ofloL LU~y GlS51S

@) Slsyi-edd @) [y -

G 8 uS dd- (@ $3s5 9l Al
ULSA

Gy 8 9sHud (@ kad asaR

AiAydl
!:lS:
@ G G Go)

(A @ b)) © @
(B) (© (@) (@ (b)
€ @ B © (2
D) ) &) @ @
1EU0  HI Yy

Conference of National
University Libraries (SCONUL) 2l
00 HL dd U olgey q ¢

‘Standing

and

(A) Standing College, National

and University Libraries

(B) Society of College, National

and University Libraries

(C) Standing Council on National

and University Libraries

(D) Standing Committee on National

and University Libraries




32.

34.

Referencing is important :
(A) to avoid plagiarism
(B) to avoid censorship
(C) to avoid copyright
(D) to avoid IPR

‘India Office and Records’ is related

to :
(A) Library of Congress
(B) British Library

(C) Bibliotheque Nationale de

France
(D) The National Labrary, India

In a study to find the information
seeking behaviour of children,
which one of the following research

methods is most suitable ?
(A) Experimental

(B) Historical

(C) Case study

(D) Survey

L. &L S.-111

32.

33.

34.

dectl Al LAl Sid 9
(a) wlelas AR amal 1

(B) A-azAdu amdl He2

(C) Bl SR adl 12
D) 6iilzs duel 2@s 20 He
(Soul A 2-s 155 sid
Aol © 7

(A) AsA] s sid

B) Béy adasl

©) [Breel»iids Auadd sl sid

(D) Ul AAad, ™Hird

oSl HIRAL Ml adels eiel
Wil ieHl A-i-l 56 elad

ygld am? dou 8 7
(A) MALLUHS
B) Hilasius
(C) Alsdald HeARA

D) udael

[P.T.O.]




35. DESIDOC provides information 35.

36.

37.

services in the field of ............ ;
(A) Deforestation

(B) Development Economics
(C) Defence

(D)

Deserts

‘Quality Circles’ is a technique

. 36.

used in :

(A) Personnel Estimation

(B) Personnel Evaluation

(C) Management Control

(D) Participative Management

INDEST Consortium is established

by :

(A) UNESCO
(B) UNISIST
(C) MHRD

(D) INFLIBNET

L. &I. S.-III 18

37.

S¥lsis sl aotul iRl Aad 3]

¢

&

uls
(A) [Ad-ls2ul
(B) [asivaall 52y
(C) A:amL
(D) WL el

‘silad] wber’ uRR Guyiam] day
g
(A) sqal [QAvus vigley
(B) sl yeyisq
(C) AdAlasly »iga
D) ™lletlydsy Haiaq
6v522 sARUMAL wdqy -
(A) Y-l

(B) yHle

(C) MBI

D) Swsdloae




38.

39.

A good open access source for

research report on life sciences is :
(A) PubMed

(B) INSPEC

(C) BIOSIS

(D) SPINE

Match the following and select the
correct answer from the codes given
below :
(;) Foder’s India (a) Directory
(it) World of (b) Periodicals
Learning Bibliography
(77¢) Ulrich’s (¢) Year Book
Directory
(iv) India : A (d) Travel Guide
Reference
Annual
Codes :
G G @) o)
A ) (@ B (c)
B) @ © ()
) @ B @ (@

O b)Y d) (a) (¢)

L. & 1. S.-1I1

38.

39.

S35 (sl wadl dsisst sedld
WAL Pis AL B AsAA @Ald
@

(A) U6l HS

(B) S-S

() ouaidla

D) WML

QA Rsedl st
Gy sisd Sksul (o) [Bs2Rl
Gi) des s () WS-l
alot aLsHUY

(i) walza (c) Alsl 98

(3523l

Go) SksuL @ 2 (d) AR
3152 yolelst
Y

51S +
(L) Gi) i) o)

(A) d) (@) (b) (c)
®) @ © ©® @
©) © b @ (@
D) b)) d (@ ()

[P.T.0.]




40. Canon of Sought Heading takes
care of :

(A)
(B)
(C)
(D)

Permanence of headings
Approaches of users
Arrangement of entries

Consistency in preparation of
entries

41. Which of the following search

strategies does not involve the use
of Boolean operations ?

(A) Building-block search
(B) Truncation

(C) Pair-wise facet strategy
(D) Successive facet strategy

42. Match the following and select the

correct answer from the codes given
below :

(@) Life Sciences (a) INSPEC
(iz) Medicine (b) SPINE
(c) ERIC
(d) Medline

(iii) Physics
(v) Education
Codes :

@)

(A) (d)
(B) (b)

(C) (a)
D) (o)

L. &I S.-III

(i7)
(c)
(d)
(c)
(a)

(z11)
®)
(@)
(d)
(®)

(iv)
(a)
(c)

(b)
(d)

40.

41.

42,

20

ALl Haony Guayst sHui 3
9
(A) il Rezdl
(B) Gudlotsdlairl 244004
©) gl Sllsas(l
D) -8l AR s D53yl

llAnil] 56 sl e arin odlys
Aiyedl Guulol 1) 52914
el

(A) [Biesla odls sy
(B)

(C)

2591+
-y 32 1w

% B 3

(D) AsAA{l 332 P2

b R 1

[Aseuia s|
© ¥Qs Rardl (@) Suds
(i) des (b) US>
GiD) ells Rsud (o) 21
@) el (d) ASELS
1S :

@ G G Go)

A @ © B (@
B) &) @ @ ()
(C.) @ © @ ®)
D ©@ @ ® @




43.

44.

Match the following and select the
correct answer from the codes given

below :
() CILIP (@) India

@) TASLIC (b) UK

(it1) TFLA (¢) USA
(v) SLA (d) Netherlands
Codes :

G @) G G
A B @ © (@
(B) ) ) @ ©
© » @ @ ©
O © @ @ ©

“Half Life” in Information Science

refers to :

(A) Rate of obsolescence
(B) Rate of Growth

(C) Degree of Scatter

(D) Immediacy Index

L. &I S.-111

43, AL Rsedl st

@) dldly (@) MLzd
(i) OHRdls (b) 45
(i) 84l (€) YAAue
(iv) AAADIEAM (d) H2A-S
DICEE

@) @) @) Go)
(A) b @ (© (@)
M) ) B (@ ()
©) B @ @ (©
M © (@ @ ©®)

44 Rl RaAHL ‘615 ads’ eld

-

€9

(A) sladddidl €3
B) ala-l &2

(C) [Ruizidid, wHsL

D) deste Guaidll el

21 [P.T.0.]




45.

46.

47.

In the spiral of scientific method,

the span of Nadir to Asbendant

(A) Empirical phase

(B) Hypothesizing phase
(C) Deductive phase

(D) Verification phase

The terms X’ and Y’ axes are not
applicableto ..., .

(A) Bar chart

(B) Pie chart

(C) Line graph

(D) Frequency polygon

The .

process of transferring

software program from secondary
storage media to the hard disc is

called ......................... :
(A) Download

(B) Upload

(C) Installation

(D) Storage

L. &1 S.-III

45.

46.

47.

dattlts uglal gsoflui gl

Gedouafl el ey g sdaiy & ?
(A) ™A% deiss)

(B) GBeseustl Al doeiss

(C) [l doiss)

(D) AstAR(AL doissl

K AV B L ML ) USdl
"] :

(A) ol e
(B) W we
(©) s Als
D) [Bsa={l il

A5 @i ASlumiell e Rasyj
AB2AR wadidRd (2la1s2) saa1]

uldul g sday & ?
(A) SIBdls

(B) »44lS

(C) S-u2idaq

D) @iy




48. Which of the following institutes 48. .wc[%[;w danauHl ‘eun [Qoor w3

rovides matchin rants for 5 \ . )
P €8 saq w3 AAuiall 59 UL AHidR

establishing ‘Children’s Corner’ 1n _
deld YT W © 7

public library ?

A) 3wl
(A) UGC
(B) 21.2L.21.dl.8l. (RRRLF)
(B) RRRLF
(C) CBT ©) Hellél
(D) National Library of India (D) @llrdd gl e

49. In which research method, is the 49 & dsiad U alami ‘Qrié[silct A4’ dl

concept of “Controlled Group” Rota-l Gudani dar Q ?

used ?
(A) ARilcHS
(A) Descriptive

(B) MUl
(B) Experimental

. @ Alasis
(C) Historical

(D) Sampling (D) 3t

L. &1 S.-III | 23 [P.T.0.]




50. Match the following and select the 50. {13l [@Qsyl g

correct answer from the codes given

below : (i) &S (@) a3 Yoy 4
(¢}  Facebook (@) Larry Page and _ Ay oll

Srzgey, Brin (i) edlex ®) &l oz o]
(i) Twitter (6) Tim Berner

(i) 465 AUSS  (0) ¥ Sl

Lee
(zii) World Wide (¢) Jack Dorsey W
Web (iv) 214 (d) 15 Bs0600
(tv) Google (d) Mark Zucker- BHE

berg
@ @ G (Gv)
Codes :

A d)
@ G G Go) A © @ & @

A © @ b (@ B) @ @ B (©

B) ) @ B () € @& © @ (@

© ® © @ @ D @ © & (@

D @ @ B (@

51, ANl HiuyL 313y aplBidls
51. Mathematical formula for

1 ?
staffing pattern was recommended WAl mdrie sz S sdl !

by (A) »y.2. oz

(A) S.G. Bhattacharya 5
(B) [dHy«
(B) Neelmeghan

. C) AA. 2. Ty
(C) S.R. Ranganathan ©

(D) C.P. Shukla D) .. S{ETC)
L. &I S.-111 24




52.

53.

‘Control-access directional

type sources’ were recognised
BY wuepeiens s

S.R. Ranganathan

Margaret Hutchins

William Katz

(D)

Krishan Kumar

Match the following and select the
correct answer from the codes given

below :

(i) Who’s who of _(a)Centra]
Indian Writers Reference

Library

(ii) University (b) Sahitya

News Academy

(Gii) Indian National(c) Europa
Bibliography Publication

(iv) World_ of (d) Association

Learning of Indian
Universities
Codes :
G G i) )
(A) b)) @ (@ (©
® @ ©© @@ O
© @ b @ ©
D) ¢ (@ @ ©®)

L. &L S.-111
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52.

53.

B Wid 1z FEa sl wldl
a8 wued sl ed ?

(A) AR, T2

B) HwLe sl
©) [RlauH sex -
D) BwgHir

81 Rsenia st

() e & Vs (@) A2
Sksuq 2102l 35
aldal

@) aMaRid 4y @) AUls
251641

i) SEsu Aad (¢) 4RIl
[BrocflAin15] (SN

(iv) deS iis () AAURAAA

IR s Olrsur
YRRl
51 3
G G @) G
A B d @ (©
B) @ @ @ b
) @ ® @ (©
M @ (@ & ©®)
[P.T.O.]




54. Report on the ‘Development of

digital libraries of the paét decade’

1s categorized as ....................... :
(A) Annual Report

(B) Trend Report

(C) Feasibility Report

(D) State-of-the-art Repoft

55. Accommodating a new class
between two existing consecutive

classes is :

(A) Interpolation
(B) Extrapolation
(C) Superimposition
(D) Extension

56. The Farmington Plan is associated

with :

(A) Library Legislation
(B) Library Co-operation
(C) Library Cataloguing

(D) Documentation

L. &I S.-IIT

o4.

55.

o6.

‘edl eUsUl Slwed e Risi’
YRl véaldd L sl 35

ASIY,
(A) als sdag

(B) udle »iddly

(C) AsUdl Ay

D) wala Ay

oL [Qeniq s0s aol a2l s wd) qof
S 4 secuMi 2ud B ?
(A) idusy

(B) ollamay

(C) eqLRiyg

D) [A=dlz

‘sifoer i’ £A Asifd ©
(A) Ay 91|

(B) U4y &5

(C) Ay yRsy

D) UAw,




57. Match the following and select the . AR SR
57. <AL [aseuid st ¢

correct answer from the codes given

Bl ¢ O Ul Add@ s

(1) Communication (&) Radio

G Ml MM (B) A vie

barrier
(az
(i) Communication (b) Shanon
medium and @i Al HSE (@ & ulRMe

Weaver ) \ .
Gy 2dABALHSs ) Wdd

(fif) Communication (c) Video

My~
model conferencing
(fv) Interactive (d) Noise 3'\[5 .
Communication
@) G  Gi) o)
Codes :

@ @) @) (o) (A) @ B (© (d)

A @ & © (d) B) ) (a) (b) (c)

®) @ @ ® © __ |
© ® © @ @

©) ® © @ @

O @ © ® @ O @ © & (@
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58. Some experts consider third
generation of OPACs as :

(A) A little more than imitations

of card catalogues

(B) Primarily book finding lists
that work best for known item

searching

Web OPACs with GUI
interfaces, Z39.50 complaint

(C)

systems

(D) Systems marked by increasing
the number of access points

available for searching

59. Match the following and select the
correct answer from the codes given
below :

(t) Web 2.0 (@) Cataloguing
(zt) Database (b) Social

host Networking
(i121) FRBR (¢) Dialog

(iv) Web browser (d) Mozilla

Codes :
@ G G G
A @ © @ ’
B) @ ©@ @) (@
€ ® © @ (@
D © @ @ ©
L. &I S.-III
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58.

99.

52415 dosiivl Ha »(lo V- OPAC
(20s) 2eqd :

(A) 518 YL 2igszeel g agy

(B) Hvucd Ay siyqidl yig) %
AASIXL  p1ddl €y qd)
e alldl 12 By yrair
Y1y |

(C) 2.4.2U8. S2255Y 11 239.50

1 2Ag3Y dor Usy

Aell uglail F4i alg szar w3
UG HIPUML Y [Breg 2l 1Yy n]
2l Sy

(D).

AL [@sedia %iq -

@ dot 2.0 (@) YRsw

() Selay ¢l () Ars
"eq 4o
Gid) As2§LR6BUL () Sludlol

() 0L GUBHR (@) Hofley

418

@ @) D) Go)
A ® © @
B) @ © ® (@
© ® © @ @
D @ @ @ ®




60.

61.

62.

In binary number system, digit 7

is represented by :
(A) 101
(B) 001
(C) 111
(D) 100

Theory ‘X’ and theory Y’ was put-

FortH BV sy .
(A) Peter Drucker
(B) Douglas McGregor

(C) Henri Fayol

(D) Henri Gantt

The ‘Bibliography of Bibliographies’

is grouped under :

(A) Primary document
(B) Secondary document
(C) Tertiary document

(D) Meta document

L. &1L S.-1II

60.

61.

62.

opun Rl vis uglanl »is 7 dlA-umidl
el gizl salacl »ud & 7

(A) 101

(B) 001

(C) 111

(D) 100

Bigid ¥ 2 Bigld v 518 29 sl

gdl 7
(A) Jdlez g3

(B) Sl H5AAUR

(©) &4l 34

(D) el a2

ausHy Pl qusHuy R’ sUL A

seun wid & 7
(A) wufds uaw
B) [Bdld uav
(©) ddla sdu

(D) Hel uaw

[P.T.O.]




63.

64.

The ‘Web of Knowledge’ is the

service offered by :
(A) BIOSIS

(B) Springer.

(C) Elsevier

(D) Thomson Reutérs

The p_i'incipal objective of UAP

programme was :

(A) to have a bibliographical

control over publications

(B) to have a proper cataloguing

of publications

(C) to make the publications

available to users

to have a universal

(D)

bibliography
L. &I S.-III
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64.

‘ot s 0%’ Al sS4l gLl
Mluqmiav& ¢ 7

(A) oudi(l

(B) W=z

(C) AAR

(D) 4iHy R

usiai-l dRqs Guaoadl (UAP)

sdsuAl Yoy &g edl
(A) Ustarlg asHuyRy Fese W
(B)

usilly 4oy yRis W

(©) Gualdsdl>iid usiul yae

oiAlagl H12

D) ABas creruyl w2




65. The term ‘information overload’ was 65. ‘Hiledl-l B HYL[Bd qgil’

coined by : (information overload) ue-l AL
(A) Eugene Garfield 53R

(B) Derek De Sola Price (A) 4+ alEes

(C) Alvin Toffler (B) $35 sl adlal

(D) H. Davenport (C) wila- 2isar

66. The value of correlation coefficient D) >, SEREE

r ranges from : 66. AwA6ld LSl Heu-dl Uy r
(A) 0tol (A) 0l 1

B) +1to-1 B) +14l -1

(C) —1to 0 _ € -14l0

D) 0to+ 1 M o4l +1
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67.

68.

Digital Library of India is

established under the auspices of :

(A) Department of Electronics and

Information Technology
(B) Department of Science and

Technology

(C) Department of Higher

Education

(D) Department of

Telecommunication
Hypothesis is a :

(A) Tested statement of the

research

(B)

Tentative statement of the

research
(C) Finding of the research

(D) Conclusion of the research

L. &I S.-1I1

67.

68.

‘(ewed a1fad ] s Slesur’
2LUAL sl [Aedldr 61 sTALHL
SEE

(A) SaszilRsy 2 HRdl 2sidiw

RICTRT]
(B) (At 214 égrﬂcﬁ@ BICIN]
(©) G2 [3&8 [Qelsy
D) edlsxy{l3aq [aeo
Beseul (Hypqthesis) g & ?
(A) Aala-d AsiAd [Qui-
(B) Asludd 5142416 (gl
(C) el [Fosel

(D) AL BuAeLR




69.

70.

T s

Who among the following was the  69.

beginner of Internet ?
(A) NICNET
(B) ALANET
(C) ARPANET

(D) LISNET

Moodle 1s :

e

(A) an e-learning programme
(B) a Library software
(C) a Database Management

SYstem

(D) a Classification Scheme

71.

‘Mathematics for Engineers’ is
the example of which phase relation
in CC ?

(A) General

(B) Bias
(C)

Comparison

(D) Influence

L. &L S-III 33

Aa-midl Seezdedl a3aiid 53U

S8 &l 7
(A)
(B)
(C) »lul-e
(D) dlu-e

ysd (Moodle) 4 & 7
(A) S-allo sisn
(B) duldy ulsedr
(C) et Ay Adwu-e [Rrex
M) ad(lsz@ ugld

G salBiaq’ v ‘Ol Hied
i’ B sul wslzl wed Heiw
(phase relation) 4 Gelszel © 7
(A) AWML

B) glebiy (gMesia)
(C) ddril

D) Ul ()

[P.T.O.]




72. Which is the component of Selective 72. wAedllysd HilRdl w1z (SDI) @{qtd

Dissemination of Information (SDI) . v om g
oL sy ¢ 7
service ?

(A) sdl Wisie
(A) Author profile

ld wistse
(B) Library profile BY s WY

(C) Publisher profile (C) uslus Uisidy

(D) User profile D) Guylasdl sy

73. The symbol (=) equals within E ..
73. y.olal. Ui (=) agsiami etziez-l

parenthesis in UDC is used for :
Fadl (Pree) vt w2 Guaiowy
(A) Common Auxiliaries of | '
Al g 8 ?
Language

(B) Common Auxiliaries of Racial _ (A) CUML HISAL WY Yol

and Ethnic Groups B) Ald 24 dally oz W2el ey

(C) Common Auxiliaries of HelUS

Forms

(C) €3IU 2L AHLA HelUS
(D) Common Auxiliaries of

Time D) 5100 (AH4) s3ls WA Helys

L.& 1. S.-III 34




74. General Information Programme

75.

(PGI) was started by :
(A) IFLA

(B)_ FID

(C) ALA

(D) UNESCO

To which country is the credit given
to have coined the term information

society 7
(A) USA
(B) France
(C) dJapan

(D) India

L. &1 S.-1III

74.

75.

i, MRl stdsy (PGD) Si-L gLl

93 uul edl ?
(A) ©sdl

(B) Q?lis:b{ti?él.
(C) Aa
(D) YRSl

‘i([@tﬂ A4 (Information Society)
yedl 22 Ay suL tun sl
2d 9 7

(A) YA

(B) s

(€) AUl

(D) *Hikd

[P.T.O.]




ROUGH WORK
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